


2% a>0,b>0, m,neQ ,Hla"+a"=a™™",

g—;:a"“”, (a”)"=a™" , (ab)"=a"b" , (—l-)—)”:—— b
a a

3% a>0,b>0 , a,BeR EHREHWEER

’ﬁ]‘g}tﬂk‘ a® e aﬂ: aa+ﬁ , (aa)ﬁ :"_a“ﬁ , (ab @ :aaba
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y=fx)=a* (a>0 ,ax1)

LERERExER ,tiE—ME y>0a* =y
m fO)=1 , f(QQ)=a
2HNEE 21,2, €E R BB S(x,)« f(x,)=F(xy+x,)
3.(10E a>1 8 s 1, <x, &= a"< a"*
@QE0<a<1BE» x,<x, &= a™* >a’







(a, b RAFR1 ZIEH )

1.a’™ = af™ = f(x)=g (x)

2.0/ =p2P = f(x) loga = g(x) log b
3ARBRE (HFa’™ =t )




(e RAER]1 21ESH )

l.a>1 B a/™ >a8™) = f(x)>g(x)

20<a<1 K a’™® >at® = fx)<g(x)
3. R}




Lixa>0 , ax1 ¥ x=a’ (x>0 ,y<ER) BB
[HaRE » x 2HBIER y=logx Bl 1=a’ == y=log.x
GE) : x=d"% , y=log, a’

2.5xa>0 , ax1 ,M>0 ,N>0 &l
(1) log.1 =0 , logsa=1 (2) loga MN = log, M + log, N

M |
(3) log. N logsM — log, N ( log, N log. M )

4) loggM” =r logsM ( r ER)
(GE) : &a M , NRAER1 ZIEBAIMeeN = Niog, M




dika,b,c , mRAFR1ZEH , d>0 , Al

(1) logab = —1 (2) logab = %80
logra log.a

(3) lagsb= loga,b’ (reR, »x(0) (4) logsb « logyc + loged=log.d



y=f(x)=logsx (a>0 ,ax1)

LEHREE x>0 » 6B —M y= R logax =y
m f=0 , f(a)=1
2. H B BUR R BUR BUZ R
3HREE 1 ,2. >0 B f (2, x.)= (x,)+ f(x,)
4NEa>]1 B 0<x,<x, & logex,< log.x,
@E0<a<]l B 0<x,<x, & log.x, > log.x;




5.3 A [E

(1) y=log,x
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1. log. f(x)=logag(x) = a>0 ,ax1,f(x)=g(x)>0
2R (o log.f(x)=t )
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1B a >10r logs f(x) >logag(x) == f(x)>g(x)>0
2.8 0<a<l Bt log f(x) >logsg(x) &= 0<Sf(x)<g(x)

3]
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125 a >185 loge f(x)> logag (x) &= f(x)>g(x)>0
2.8 0<a<l B log f(x) >logag(x) &= 0<[f(x)<g(x)

AR
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JVEM=21 AM 2 B8R n L8 > Bl loghl 2 5 8Es n—1
Hn—1<legM<n (10"'<M<10")

(@)F O<M <1 HMAENBESE M n— 1 BB 0 , MBS ns
NRO0» HllogM 2B 8B —n »

< < —
Bl—an<logM < —mn +1 (10_M< O""

4.5 MIEBM N 2 BB FHFIEE » &5/ B2 BEARR > Al
logM¥8i logN 2 B8 o
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1L.7rs\E=180° , 19lE=

17230 = 57°17' 45"

T .

=~ 180 M E=0.0174550 &

2.E0LEB0 » L&A r 2 ES » % [E L AOB
CESRO M ABZER | |, B AOB

CHEESS Hi=70 SZ—;—r z :Jz—rza
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LR LBETH L R P(x,y)R
BEA 288 E—E8

OP=r Al
sinf =2 , cos == , tanf==- ,
y y x

x y y
cotd =— , secl =— |, ¢sc =—
y x
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(1) sin6 csc0 =1 , cosO sec§ =1 , tanf cot 0 =1

] 7}
sin 0 ot = cos
cos 0

tan =

sin®0 +cos?0=1 , 1+tan*0=1 , 1+cot?0=csc?0
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(2)

x 2n+0 | -0 —2—~0 §+0 -0 | w+0 —2~—0 §+0
sin x sinf|-sin@| cosd cosf| sin@ |-sin@ |-cosf|-cosf
oS X cos @ cosf| sinf |-sing|-cos@|-cosf|-sinf sinf
tan x tan @ | — tan@| cotf |- cot@|-tanl tan@ cot@ |-cotf
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3 P BRROZ—HE o HREE S ZEREPZLE—E
% f(x+P)=f(x)EBOL BIfE f R BIBKE o
EPEME f(x+P )= (x) RILZHBPIER Al PRERfZH
HH o

(1)simx , cOSx ,secx , cscx ZHEBIBR 21 o
tanx ,cotx ZHEBR T o
QFEEE f(x) 2 BEARP » RIS S (mx) f(mx+a)

o P
(m>0 ,aRHE) ZBUR_

ZU



) &

IMZEL=

4.5

"H# S

1K B E

()sin(a+B)=sina cos Bt cos sinf

(2) cos (a+ B )=cosa cos B+ sina sinf

(3) tan (ax B) =

4)cot (axp )=

tana + tanf
1F tana tan

cota cot B+ 1
cot X cota




% & ’

V62 V6+v2

() sinl5° —cos75° = , , c0s15° =sin75° = 1

tanl15° =cot75° =2—/3 , cot 15° = tan75° =2+ 3
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; 2
(1) sin(a+pB) sin (a——ﬁ):sinza—sznzﬁ:coszﬁ—cos «a

(2) cos (a+B) cos (a—p )=cos*a—sin®*f=cos*f—sin’a

(B)ix a , b NEHR O » Al

asinl+bcosl =/a*+b%sin(0+a )=+ a*+b%cos(O0—8)

a ] ] b
H cosa:\/wzsmﬁ , szna:\/a2 — = cos B
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(1) sin20=2 sinf cosb

(2) cos 20 =cos%0 — sin*0 =2 cos?0 —1=1—2 sin20

2 tan @ cot?d—1
3) tan2 1—tan®@ ° cot20 2 cot 0
(4) sin30 =3 sinb —4 sin®0 5)cos30 =4 cos*@—3cosb

tanl — 3¢ | —
3tan tan (7)cot30:360t0 cot 30

6) t 0=
6)tan3 1—3tan?0 1 —3cot?l

24



GE)Q) (sinm Otcos@ )2 =1+ sin20

(2)sin20:1_60320  cos? = 1+cos20
2 2
(3) sinl18°=cos72° ——-\/—Z , €0s18°=sin72° ——\/1022\/—
sin36°=cos54° ——\/ 10 42\/_ cos 36° =sin54° —\/_2_1
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tan_@_:i‘/l—cosﬁ_ s
2 1+cost

Brp

) %

4 /1 —co sl ) 1 +
sin—=+ — =+ cos 0
2 = 2 ’6“2—%/ 2

int  1—cosl

) (DRBFTZ A

1+cos@  sinl

ERIR M AE o

;%mgm%

26



7

2tan —
6
(2) sin=2 sin-?— COs—= 2
2 2 , 0
1+ tan®—
2
1——tan2—?— Ztang—
7, /. 2 2
cosﬁ“—:cosz—-z——— sini—= 7 , tanl— 7
1+tcm2—2— l—tanz—-z—
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